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3.1.1
1.
3.1.1 X 71,2, ,n Q,#,P) rv X-= (A,
X, X)) n n o . n
A, X, X )i=POEx, X<x, , X<x ), (a, X, X )eR
rvX i=1,2, ,n n dr X
X=(X1, X2, -+, Xn ) Fx(x). [
1. dar
af
F1). - A, %, LX)
F2). - A, %, LX)
F3). .
lim F(x,X,,...,%x,)=0, Vj=1, 2, ...,n
lim  F(X,X,,...,X,)=1.
F4). ar F(x,)) X< X , A
Vi<, Y2
FCe, ) F(x, y)  F(Ca, y)+ FCa, $) 2 0. Y1
rv rv. i
>
pi1i2'~~in: P(Xlzil’ X2:i2’ ce Xn :in)’ 0 Xl X2
n pdf fi(x)
Fx(X) :_[_;J'_; J._w oy (% Xg oo oo, X )y dx, - dx,
X=X, X%, X)), x=(a, X, ,X).
(%)) axay (X,0) (X))
v, D
P((X,¥) € D) =[] ficy) (x y)edly . (3-1.1)
X Y
Fooy)=[ [ fluvdudv.  Rx)) (6))
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O*F (X,
f(xy)= 2 F )
oxXoy
3.1.2
1. Ua
3.1.2 A R n L- ( n ) AcR, 0<L(A) <.  (Q,%,P)
n rvx, 1,2, ...,n rvx pdf
1/L(A) xeA
fx (X): {0 )
otherwise
X A . X~ Us . O
2. NC a, )
Q)
3.1.3 v (x,»n pdf x,)) € R

#(X,Y; ,ul,,uz,alz,azz,p)

1
= exp
2716,0,\1- p° {2(1,02)

Hiy 1y 01(>0), 0,(>0)€R,, Ipl <1, X

x—mjz_zp(x—mw—uz){y—uz
0,

O, 0,0,

XN NQu, e, o, &, p).-

i

Hiy Moo 05 030, P

N(0,0,1,1,p) pdf (%Y, p). [
NN, 1o, o &'y p),
Xe=(X =)l or Vo= (V -e)/ o2
(X, ¥)~N(0,0,1,1,p).
(2) 2 2 2 2
l) (X, Y)~N(,Ll1, ey O, O2, ,0) X~N([J1, 0'1) y~N(H2, 02) (/\*, )’*)
~N(0,0,1,1, ) X~N(0, 1) Fr~N(0, 1).
2) (5,0 (1) P i
rv , U=aX+b,V=cY+d, ab=0,
wuyVv) el
3) p
af, !
4) P X v
(G , p 0, (X, V)
. , rv
©))
pdf
1) pdf >0
2) ¢(x,y;y1,y2,0'12,022,p) X= Y=4u, (s 1)
2700\ 1-p )", o, o, |/O| 1
3.1.3 rv
1.
xeR, P(X=x) >0
P(Y<sy X=x) =P(X=x, Y< )/ P(X=Xx
X =x Y ar Fx(1X), oo <y < o,
X rv (x -Ax <X < X) X=X
314 X VY rv
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FxOAX) =lim o {P(x AxX <x, <)) / P( x-AX<X < X) }, ¥ eRu.
X=X Yy . O
X, » pdf Ax, ») (x, )) y eR x f(x) >0.
H ospital
= j_y f(xv)dv /7 £(x) = j_y [f(xv)/ £(0)] dv.
fix(AX): = fx, y) 1 k(X)) F()>0.
y
Fox (Y1) =" e (vIx)dv.
Fxv(Xly) — fxv(Xly) dff pdf] ~ df[ pdf].
2. rv
3.1.5 A, x, ,x) Al x, X%, %) X df j=1,
2, ...,Nn
A4, X, ) :HlnFj(X ), V (a, x, X ) €Rn,
X, X, K ;
[ 1
° ar
1 2x+y>1
3.1.1 F(x,y)= y af ?
0 2x+y<l1
°
3.1.2 3 4
X;= {1 ! i=1,2
0 i
XKL XK ? ?
0 4416 (34 12 1 4
77 49 77 49 7
! 4312 133_9 |3
77 49 77 49 7
pi.:P(Xlzi) i E
7 7
0 4312 (3412 14
76 42 76 42 7
1 43 12 (32 6 (3
76 42 76 42 7
p,. =P(X,=1) ﬂ g
7 7
X1 X2 Xl X2
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3.1.3 rvx Y v XV X Y
4 yl y2 Y3 P(X :Xi): Pi.
X
Xq 1/8
X5 1/8
-1 01 0 1
3.1.4 v x X X~y 1 . Xo~l, .
4 2 4 2 2
P(XX,=0)=1. X X X X
XX
XX 1 0 1 )
0 172
1 172
)y 1/74 1/2 1/4 1
3.1.5 n r h w 1
2 . 2 3
1, k
Rk = {O,
Wk = {1 k k = l 2 n
0, .
). A : 2). (R, ) : 3). A(k=1] R =1).
DPR, =1)=— PR =0)=—2+W_
r+b+w r+b+w

2). po=bl(r+btw), pu= 0, pouo=wl/(r+b+w), po=t/(r+b+i).
3). w/(r+b+w+1)-

3.1.6 (X,) pdf
f(x,y) =c-exp{-n(x+y)} 1 (0<x<y<+o0),

n c .
1). c 2). fir(11);
. X ¥
1) pdf
1= ﬂ f(x,y) dxdy = j j c-exp{—n(x+y)} dxdy
R? 0<x<y

0 - 0 - o0 - 1 -
:cje ”defe Ydy :cje ™ x —e ™dx
0 X 0 n

:Lz, c=2n
2n
2) pdf,

()= f(xy)dy
_ '[ “2n%e "0 Vdy =2ne ¥, x>0
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fY|X (YID=Ff@Ly)/ @
:Y::ane‘“(“y) /2ne" =ne "D,

Yy, 1EY|x (yl1) o.
3y 2 ¥ pdf
o= f(xy)dx=] 2n%"Vdx =

2neW(1-e™), y>0
f(x,y)= f,(x)f,(y), O<x<y. Xx VY

e JV
8 0<x<y, 0<y<1
3.1.7 f(ny)(X,y):{ 3)’ X<y y X v
xe[0,1],
w A
L 0=[" f0xy)dy
:le 8xydy = 4x(1- x?) U=x<y<l
f, (X)=4x(1-x*) 1(0<x<1])
fo(y)=4y°10<y <)) >
X Y .
3.1.8 V(XY  pdffix,y) X v
g(x)h(y) a<x<b, c<yx<d
f(x,y)= { 9
a<b, c<ud,
8 3.2
’ rv
—_— rv
rv
3.2.1
Fy (¥) = P(9(X) < ¥) = [0 ey 9F x (X)
_Zgeogsy PIX) X
fx:g(x)sy fy (x)dx X
1. rv
3.2.1  X~PQ) y=12x 1
POY=K) = POXE(k1)/2) = (k;ye‘* , k=0 1,2, ... 2
T H

k
P(¥=2k 1) = POEK) = %e‘ﬂ k=0 1,2, ...
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-1 1 3 e 2k-1
et det et ... e

k!

2. rv

@D —

@

y=9(x) :

2.4.1 X pdf (X)) y=9(x)
x=h() - FI) pdf

f, (¥) = f ()| (v)

X pdf fi(x),a=0 Y=aX +b pdf

fY(y)ﬁfx ()|

3.2.2
rv
v :
1. C
Foxn (@) =P@(X,Y)<2)= ([ f(xy)dxdy

g(x.y)<z

M
OH. paf

1 X Y u, v X, V,
u=u(x) X = x(u)
{v =v(y) {y =y(v)
v uwxy V()

2 rvx Y ux)y W) Borel (
Borel ) vU o uX) Vou)

rv Borel .
2 X* Y*iid, ~ N (0,1) 2 X=0, X"+
Y=0Y +u, : X Y Z . X+Y 72

€)
H rv

fyoy (2)=]" f(z-x,x)dx=[" f(x, z- x)dx

=[7 fy (z-x)fy (x)dx. ( X Y )

2)
A, X, , x) XMW, X, , Xx) df, £ £ X df pdf.
Xy = max{X, X%, , X} JXo=min{k, X, , X}
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Xoy Ao
ar
Fo(2)=P(X, <2)=P(X, <z, X,<2, -, X <2)
=Fo, %, x)(Z 2, -, 7)
Fimy(2) =T11Fj(z) ( X )
=[Fi(21" (X jiid)

fo@=nf@QIR@I™ ¢ A )-

P(Xy >2)=P(X;>z, X,>z, ---, X >2)

F(l)(z):l—P(X(l) >2)

F(l)(Z) =1_ P(Xl > Z, X2 >,"' ,Xn > Z)
:1_H?:1[1_Fj(z)] ( X )
=1-[1-F(2)]" ( X iid)

fo(@)=nf,@L-F@]"" ¢ A ).

[ ]
° rv

3.2.1 X~Ug,, r=-2X+2 pdf.

3.2.2 rvX pdf f, (X) y=X pdf; X N (O, 1) Y
=X pdf

1 .,
fy(y)zﬁy”e 2 1(y > 0)

h(Y) =ty , y>0 fy(y)zﬁ[fxmnx(—ﬁ)] (y>0).  xpar

3.2.3 D, D X
f.(x)=1/ (x v1-x*) 1(x|<1) . m
e Vv g
3.2.4 ( Y rvXx, v )
P(X=k)=p(k), k=0,1,2, P(Y=r)=q(D), 323
r = 0,1,2, rvz=x+Y
P(Z=0=2 p(k)q(i—k), i=0,1,2,....
k=0
3.2.5 X Yiid, ~ U(0,1) . Xey

0<z<1, R (2)=2%/2; 1<z<2 F(2)=221-12"-1 F,(2)
z, 0O<z<1

pdf 0.
2—-2, 1<z<?2

0 z<0 1 z>2 fx+Y(z)={
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. -1 0 1
3.2.6 rvX,,--, X, did , ~ , 0<p<l,0<gc<l, r
q r p
>0, p+ g+ r=1. DX X, XX, Xy = min,_,_, X,

- X~[-2 10 1 2} XX~(—1 0 1 J

9® 2qr 2pg+r® 2pr p*) "1 (2pg 1-(p+q)® p’+q’
oo comror o)
1- U+p) (r+p)"-p" p"

oo ap o)
1- a Q" (@-g)"-p" p°
X, Y
X 0 1 2 3 4 5

0. ]o.01 |0.03 ]0.05 |0.07 |0.09
0.01 [0.02 |0.04 [0.05 [0.06 |0.08
0.01 [0.03 [0.05 [0.05 [0.05 |0.06
0.01 [0.02 |0.04 [0.06 [0.06 |0.05
1)  P(X=2|Y=2), P(Y=3|X =0).
2) U =max{ X,Y}
3) V=min{ X,Y}
4y  W=U+V :
v o | 1 | 2 | 3 | 4 | 5
o |0.28|0.04 [0.16 |0.28 [0.24 |0.28

WIN ([P O~

v | o 1 2 3

/& |0.28 0.30 0.25 0.17
w o 1 2 3 4 5 6 7 8
o |0 0.02 0.06 0.13 0.19 0.24 0.19 0.12 0.05

3.2.8 woX Y G={(x,y)[0<x<2 0<y<1}
X v S pdff(s).
A
G v
1
G - Xy=S
X=S >
2
O<s<?2 Xy =5 G s,1 Xy=s
X)>S Xy <S
F(s) = P{S <s}=P{XY <s}
S, tp w——a+mzlng
2 29

f(s)=2(n2-Ins) 1(0<s<?2)
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3.2.9 S S,
. A .
2xexp{ A dyexp{ Au}y >0 2xexp{ AG}H1 exp{ Au4}] 0 re,n)

83.3
1.
2.
3.
4. ,
5- 0 , X y [ 3 - ,
6. , <p =0,
7. rv s
X v g0 A ;
X Y , U= u(X, 9 V=wuX, Y rv, v v
—t
3.2.9
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